EARAROBEEIERT — 2 N— IBISH —F

2019518208 (B) 1EI=#7H

AR REEEXY

5004 45k

‘ (x42] Jl"ﬁ‘ (sl — | 4 (5) 14000 B

[A~&£] 17 :7,200,000  ~ 23 :2,900,000 @ 3 7 :1,800,000

/473 11,100,000 5 7& :720,000 /M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
¢ = : 4 3 | IEERER 1:26.2 6-5 38.6| 88.7 | 5 482 | AEE (EH)
1 > PIEEAS R A Al ¥053.0 (-) 6) | B) 8=7  ARK=b
L:E4h—7 B:/O075F— Ealzbie]
- & H B 126. — . . KAfREES (BR)
ol5l5|Fav77514— it 3 i 1(/3&;)2 2-2 39.2| 89.0 | 2 (i?g) EPE?;
LN=Z—ka21—X B:T1T1yFhF— J—HrTr—LA
= s 3 | JIERE 1:26.2 4-4 38.9| 8.8 | 6 432 | BEHEZ (BR)
3PP 4|ET/ TSR 54.0 (7€) Lo | KEBX
RYIRG4 T2 B:2hFN—IN— Eabie]
i B3 | EPR 1:26.3 1-1 39.4 | 88.2 | 1 434 | RERET (RR)
408 6 T+ L JIL— b 54.0 (3/4) -2) MIEE
L:A—KApF+O7 B:TU—L2ZR J—H Ty — L
jt 3 | FEEBZ 1:26.4 7-8 38.6| 87.0 | 3 466 |PARE (ER)
57|7| ¥ L17 54.0 (7E) (g |ERIRE
L:7A7% B:YLYI1—> HE &Rk
o i 3 | BEAS 1:26.5 7-6 38.8| 86.2 | 4 406 | ROERI (3EX)
61111 R v LT 54.0 (1/2) (-6) LFRE A
o4O BT HEEERS
Sawg == BEHZ :27. - . . &R (FH)
7lglgl2>v751 1 i 3 s 1(267>5 9-9 39.3|77.8 | 9 z:(ﬁ))Z m;i;’eﬁ.(:
L:€r/0704 BeIRINVE-— Ar—LT7—La-KRL—3a>
4 3 | HHEBE 1:28.1 4-6 40.8| 745 | 8 452 | HSMREA (i)
EH 3| 7AINF v —L A52.0 (3 1/2) () | R ST —$5TLy KR
LTANNGTTFY— B:dvbvL—X BEZX2Y K
i 4 3 | tAR— 1:28.5 3-3 M3 79| 7 464 | REMEE (]R)
9(8|9|7H4 54.0 @ ) | D KTL=v>y
R:Vv 2414 BiLh—-F 00—V [sgitie]
@ 71 L
) 51.4-39.3
NEA>24 L | 11.8-10.8-12.2-12.1-12.5-13.0-13.8
@ 1—F—@&BIEf
13=7r=
23—7F—
T=7= (¥6,5)9(3,4)2(1,7)-8
41—+ — (x6,5)9,4,2(3,1)7=8
[ RN
B OB 2 1,780 714K 2-5 830M e & 2-5 3,900 &R 2-4-5 12,630
8 B 2 1,160M 2-4 2,780 B & 25 3,690 3B 2-5-4 92,570/
5 350M 4-5 780M B H 2-5 9,030
4 1,100

ABICOVWTRDTEEERROODE. TR LIV,




